ASTRONOMY 5

Cosmology and Galaxies

Spring 2007

QUIZ # 1, April 4, 2007

Your name: ____________________________________

Please fill in the blanks:

1) What is the required value of the exponent?                                               _________

0.00567 x 1010  =  0.0567 x 10?  

2) Now, what is the required value of the exponent?                                      _________

0.00567 x 10-10  =  0.0567 x 10?  

3) Some galaxies are quite large on the sky but are hard to see with              _________

the naked eye because:


(a) Stars in galaxies are intrinsically dim.


(b) Galaxies are far away.


(c) Galaxies are mostly empty space; the stars in them are far apart.


(d) Stars don’t shine at wavelengths visible to human eyes.

4) Suppose we made a new model of the Solar System using a brighter

light bulb.  All distances and sizes of objects in the new model would be:     _________


(a) Bigger, because the new light bulb is physically bigger.


(b) Bigger, because the new light bulb is brighter so the white card

     
     gauging brightnesses would have to placed farther away.


(c) Smaller, because with a brighter light the new model could afford


     to be more compact.


(d) Smaller, because the new light bulb would be hotter.
